
SAP ABAP table V_T5RSOP_SCH_ESW {Generated Table for View}

V_T5RSOP_SCH_ESW

MANDT [CLNT (3)]

SCHEME_ID [CHAR (4)]

VALID_TO [DATS (8)]

GRANT_CURR [CUKY (5)]

VESTING_PD_UNT1 [CHAR (3)]

MORATOR_PD_UNT1 [CHAR (3)]

VESTING_PD_UNT2 [CHAR (3)]

MORATOR_PD_UNT2 [CHAR (3)]

VESTING_PD_UNT3 [CHAR (3)]

MORATOR_PD_UNT3 [CHAR (3)]

VESTING_PD_UNT4 [CHAR (3)]

MORATOR_PD_UNT4 [CHAR (3)]

VESTING_PD_UNT5 [CHAR (3)]

MORATOR_PD_UNT5 [CHAR (3)]

VESTING_PD_UNT6 [CHAR (3)]

MORATOR_PD_UNT6 [CHAR (3)]

VESTING_PD_UNT7 [CHAR (3)]

MORATOR_PD_UNT7 [CHAR (3)]

VESTING_PD_UNT8 [CHAR (3)]

MORATOR_PD_UNT8 [CHAR (3)]

VESTING_PD_UNT9 [CHAR (3)]

MORATOR_PD_UNT9 [CHAR (3)]

VESTING_PD_UNT10 [CHAR (3)]

MORATOR_PD_UNT10 [CHAR (3)]

T000

MANDT [CLNT (3)]

 V_T5RSOP_SCH_ESW-MANDT = T000-MANDT 

0..N

0..N

T538A

MANDT [CLNT (3)]

ZEINH [CHAR (3)]

 V_T5RSOP_SCH_ESW-MORATOR_PD_UNT1 = T538A-ZEINH 

0..N

0..N

 V_T5RSOP_SCH_ESW-MORATOR_PD_UNT10 = T538A-ZEINH 

0..N

0..N

 V_T5RSOP_SCH_ESW-MORATOR_PD_UNT2 = T538A-ZEINH 

0..N

0..N
 V_T5RSOP_SCH_ESW-MORATOR_PD_UNT3 = T538A-ZEINH 

0..N

0..N
 V_T5RSOP_SCH_ESW-MORATOR_PD_UNT4 = T538A-ZEINH 

0..N

0..N
 V_T5RSOP_SCH_ESW-MORATOR_PD_UNT5 = T538A-ZEINH 

0..N

0..N  V_T5RSOP_SCH_ESW-MORATOR_PD_UNT6 = T538A-ZEINH 

0..N

0..N  V_T5RSOP_SCH_ESW-MORATOR_PD_UNT7 = T538A-ZEINH 

0..N

0..N  V_T5RSOP_SCH_ESW-MORATOR_PD_UNT8 = T538A-ZEINH 

0..N0..N

 V_T5RSOP_SCH_ESW-MORATOR_PD_UNT9 = T538A-ZEINH 
0..N0..N  V_T5RSOP_SCH_ESW-VESTING_PD_UNT1 = T538A-ZEINH 
0..N0..N

 V_T5RSOP_SCH_ESW-VESTING_PD_UNT10 = T538A-ZEINH 0..N0..N

 V_T5RSOP_SCH_ESW-VESTING_PD_UNT2 = T538A-ZEINH 

0..N

0..N

 V_T5RSOP_SCH_ESW-VESTING_PD_UNT3 = T538A-ZEINH 

0..N

0..N

 V_T5RSOP_SCH_ESW-VESTING_PD_UNT4 = T538A-ZEINH 

0..N

0..N

 V_T5RSOP_SCH_ESW-VESTING_PD_UNT5 = T538A-ZEINH 

0..N

0..N

 V_T5RSOP_SCH_ESW-VESTING_PD_UNT6 = T538A-ZEINH 

0..N

0..N

 V_T5RSOP_SCH_ESW-VESTING_PD_UNT7 = T538A-ZEINH 

0..N

0..N

 V_T5RSOP_SCH_ESW-VESTING_PD_UNT8 = T538A-ZEINH 

0..N

0..N

 V_T5RSOP_SCH_ESW-VESTING_PD_UNT9 = T538A-ZEINH 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 V_T5RSOP_SCH_ESW-GRANT_CURR = TCURC-WAERS 

0..N

0..N


